RICHLAND PARISH

PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
COTTON						
Lint - Irrigated (Total)		32,642.0	865.00	28,235,330	lbs.	\$13,598,135
Lint - Non-irrigated (Total)		13,990.0	350.00	4,896,500	lbs.	\$2,358,154
Seed - Irrigated (Total)		32,642.0	1,384.00	45,176,528	lbs.	\$2,177,509
Seed - Non-irrigated (Total)		13,990.0	560.00	7,834,400	lbs.	\$377,618
Cotton (Total)	100	46,632.0				\$18,511,416
FORESTRY						
Pulpwood						
Pine				1,023	cords	
Hardwood				10,393	cords	
Pulpwood (Total)				11,416		
Chip & Saw (Total)				10	cords	
Saw Timber						
Pine				1,347,204	board feet	
Hardwood				1,912,077	board feet	
Saw Timber (Total)				3,259,281		
Total Pulpwood, Chip & Saw,						\$2,389,843
Saw Timber FOB Mill						
Total Forestry Stumpage						\$1,315,654
(Total)						
Christmas Trees (Total)	*				trees	\$30,000
Forestry Seedlings (Total)	*	70.0	150,000.00	10,500,000	_	\$367,500
					(1,000)	
Forestry (Total)		70.0				\$2,787,343
FRUITS						
Peaches (Total)	7	15.0	200.00	3,000	bu.	\$120,000
Fruits (Total)		15.0				\$120,000
FEED GRAINS						
Corn (Total)	75	22,839.0	147.00	3,357,333		\$8,896,932
Grain Sorghum (Total)	15	3,308.0	55.00	181,940	cwt.	\$852,571

FEED GRAINS						
Oats (Total)	7	830.0	75.00	62,250	bu.	\$110,183
Feed Grains (Total)		26,977.0				\$9,859,686
Home Gardens (Total)	4,000					\$800,000
Peanuts (Total)	*	50.0	3,000.00	150,000	lbs.	\$25,500
PECANS						
Improved (Total)	*	150.0	480.00	72,000	lbs.	\$93,600
Native (Total)	25	15.0	175.00	2,625	lbs.	\$2,494
Pecans (Total)		165.0				\$96,094
Rice (Total)	12	4,616.0	66.60	307,425	cwt.	\$2,736,083
Soybeans (Total)	175	37,242.0	22.00	819,324	bu.	\$4,797,961
SWEET POTATOES						
Canning (Total)				63,450		\$348,975
Fresh (Total)				95,175		\$1,023,131
Sweet Potatoes (Total)	*	423.0	375.00	158,625	bu. (50 lbs.)	\$1,372,106
VEGETABLES						
Cabbage						
Fresh	*	3.0	750.00	2,250	sacks (50 lbs.)	\$20,250
Cabbage (Total)		3.0				\$20,250
Cantaloupe (Total)	*	3.0	175.00	525	cartons (40	\$9,151
					lbs.)	
Collards						
Fresh	*	3.0	600.00	1,800	doz. bunches	\$12,600
Collards (Total)		3.0				\$12,600
Cucumber						
Fresh	*	4.0	320.00	1,280	bu. (50 lbs.)	\$23,040
Cucumber (Total)		4.0				\$23,040
Eggplant (Total)	*	1.0	550.00	550	bu. (33 lbs.)	\$11,000
Irish Potatoes						
Fresh	*	4.0	150.00	600	cwt.	\$21,000
Irish Potatoes (Total)		4.0				\$21,000
Lima Beans						
Fresh	*	20.0	110.00	2,200	bu. (32 lbs.)	\$77,000
Lima Beans (Total)		20.0				\$77,000

RICHLAND PARISH

\mathbf{R}	CHI	AND	PA	\mathbf{R}	ISH

PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
VEGETABLES						
Mustard (Fresh) (Total)	*	6.0	660.00	3,960	doz. bunches	\$27,720
Okra (Fresh) (Total)	*	30.0	200.00	6,000	bu.	\$180,000
Peppers						
Bell	*	2.0	950.00	1,900	bu. (28 lb.)	\$38,000
Peppers (Total)		2.0				\$38,000
Southern Peas (Fresh) (Total)	*	130.0	125.00	16,250	bu. (24 lbs.)	\$406,250
Squash (Fresh)						
Yellow Squash	*	3.0	220.00	660	bu. (45 lbs.)	\$14,850
Squash (Fresh) (Total)		3.0				\$14,850
Sweet Corn (Fresh) (Total)	6	25.0	675.00	16,875	doz. ears	\$59,063
Tomatoes (Field) (Total)	*	3.0	1,550.00	4,650	lugs (20 lbs.)	\$93,000
Watermelon (Total)	*	40.0	225.00	9,000	cwt.	\$72,000
Vegetables (Total)		277.0				\$1,064,923
Wheat (Total)	80	10,725.0	52.00	557,700	bu.	\$2,238,329
TOTAL ALL PLANT ENTERPRISE	ES					\$44,409,441

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
Alligators (Wild) (Total)				60	ft.	\$1,500
HUNTING LEASES						
Waterfowl (Total)	15	18,000	No. Acres		acre	\$900,000
			Leased			
All Other Game (Total)	*	10,000	No. Acres		acre	\$70,000
			Leased			
Hunting Leases (Total)						\$970,000
Honey (Total)	12	60	No. Hives	6,400	lbs.	\$5,760
TOTAL ALL FISHERIES & V	WILDLIFE ENTERPRISES					\$977,260
		ENTERRED				

ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			980	head	\$487,163
400-500 lbs.			1,415	head	\$789,252
500-600 lbs.			840	head	\$514,252
600-700 lbs.			363	head	\$249,517
Steer Calves (Total)					\$2,040,184
Heifer Calves					
300-400 lbs.			1,270	head	\$560,648
400-500 lbs.			1,715	head	\$894,844
500-600 lbs.			590	head	\$341,082
600-700 lbs.			30	head	\$19,984
Heifer Calves (Total)					\$1,816,558
Yearling Cattle					
600-700 lbs.			220	head	\$142,929
700-800 lbs.			950	head	\$676,519
Yearling Cattle (Total)					\$819,447
Cow-Calf Pairs (Total)			140	pair	\$133,029
Cull Cows (Total)			765	head	\$289,361
Cull Bulls (Total)			40	head	\$33,822
Cattle & Calves (Total)	270	9,300 No. Cows			\$5,132,401
HORSES					
Show Horses (Total)	50		150	head	\$750,000
Recreation Horses (Total)	300		600	head	\$900,000
Horses (Total)					\$1,650,000
GOATS					
Slaughter Goats (Total)			620	head	\$77,500
Stocker Goats (Total)			210	head	\$19,950
Cull Goats (Total)			60	head	\$3,900
Goats (Total)	40	630 No. Does			\$101,350
SWINE					
Feeder Pigs (Total)			240	head	\$7,200
RICHLAND PARISH					

RICHLAND PARISH

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
SWINE					
Slaughter Hogs (Total)			200	head	\$24,045
Culls (Total)			24	head	\$3,840
Swine (Total)	20	30 No. Sows			\$35,085
TOTAL ALL ANIMAL	ENTERPRISES				\$6,918,836

RICHLAND PARISH \$52,305,537